Pu>1087.1

Vinf <1107 inf<1. Pu> 958.86 Vinf < .94735
T4 m.di ir 57.0 : 355, : 202 T21: 164, 24: 308.0 6 8: 1420.0
Pu>1098.9 Pu>1184.5 >1161.9 Pu > 1240.0 Vinf < 1.0319 Vinf < .99035 ﬁm ]
B R e e R
VI < 10919 VI <1.0486 Xinf >57.382 VI<O0, Qy<77002 Xinf > 66.106 Pu> 10110
DL 3i0 Dﬁuo 0 U% Dé: 1E§i0 Tﬁﬁto Dgﬁo % %" % T18: fo% %} leizuo 017Yi @1% 0
Qu<632.87 Xinf >59.911 Pt‘:>11713 VI <1.1095
D70 D260 T4%0 510 %0% D14'%1L0p18\50 Qu <79133
T31 D25: 341.0
Qu<773.16

Y-
010450 L 0.0 vmf <1 028
- ﬁ T32: 570 D

Xinf > 62.354

=

Learning set classification (w.r.t. SECURITY)

[l !nsecure: 937 P(Insecure) = 0.3123
[[] Secure: 2063 P(Secure) = 0.6877
Test set classification

Non detectioncosts: _Insecure: 1.0 Secure: 1.0
Decision Tree Class

Insecure
Secure
Total

DT2 (T32 + L7 + D26). N =3000 M =2000 alfa=0.00010 Pe = 7.25000%
Subtrees at nodes :



